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IInd Year Commerce Examination, 2017
ACCOUNTANCY & STATISTICS
Paper — 11
(Corporate Accounting)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20] -
(Tre-3) .
Answer all questions (SO‘words each).
All questions carry equal marks.

gft WA e B TR T # SW 50 TR W
afvs 7 B Tt T ® ofw e @
PART-B [Marks : 50]
(@re-9)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

TR THEE W TH-UF T I gL, FA Ure A R
TF U T IW 250 TR § 2w T 7
Toft wed & o wEAW E
PART-C ’ [Marks : 30]
(Tvs-9) ‘
Answer any two questions (300 words each).
All questions carry equal marks.

FE I T FIT TAF U H SW 300 IR @
sfen 7 & Tf T B ofm T R
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PART-A
(gug-37)

UNIT-1

(FE-1)

1. (@)  Whatis profits prior to incorporation ? State its nature.
T ¥ T @ w9 F T 0 TRl @
ERiER]

(i) Write the equation to determine amount of fresh
issue for redeemption of preference shares.

AR e & Tiew & fow 7u foige =1 afn
I FE H THEW fEfEm

UNIT-II . L

(FTE-1I)

(i) State two guidelines of 'SEBI' regarding bonus
issues.

a‘mﬁﬁm%m‘ﬁﬁ'%ﬁéa’rmﬁﬁw
Tafaml '

@iv)  State two items not to be included in normal profits
to determine Net Profits u/s 198.

v 198 F YT W9 H MO B W enw
T 9 W€ W ael r WEl S waensdl

UNIT-1II

(FeTe-11D)

(v)  Write formula to determine fair value of a share.

wweﬁawﬁﬂmmwml
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(vi) If Super Profits are ¥ 22,000 and Annuity value of
T 1 @ 10% for 3 years is 2.48. Find out value of
goodwill.

If sifremd ¥ 22,000 e dH o8 & T 10%
¥ T1 1 A 9ed 248 ¥, @ =0 w1 g

T i)
UNIT-1IV

(FHE-IV)

(vii) What is purchase consideration under AS-14 ?
e TEE-14 A %A qamd #@m R 2

(viii) When Amalgamation is in the nature of merger, state
any two conditions.

W%mm@mmﬁm% HE 9

T4 Facsyl
UNIT-V
FFE-V)

(ix) If dividends are paid by Subsidiary Company out of
pre-acquisition profits, how it should be treated by
Holding Company ? |
Ifs geEw SO 7 ftpew ¥ @ & e 9
AN TEA R, T THH o GEN FEA G
fea wwr e s =few ?

(X) What do you mean by Internal reconstruction
of Company ?

FOEA B TR AT ¥ ST T SIRA ® 2
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—— __ PART-B.
(@us-§)
UNIT-I

(FFE-)

2.  Mango Lid. forfeited 10 equity shares of T 10 each, which
were originally issued at premium of 10% to Sudha
( 9 called up other than premium), on which she did not
paid allotment money of ¥ 3 including premium and also
the first call of ¥ 2. Out of these, 6 shares were re-issued
to Mr. Pankaj as fully paid up for ¥ 8 per share, two shares
to Anuradha as fully paid up for ¥ 13 per share and two
shares to Madhumita for ¥ 5 per share as fully paid up. All
these shares were re-issued at different intervals of time.
Give entries for forfeiture and re-issue.

i fa. ¥ T 10 9 10 e SAE w1 e R S e
10% 9iftam | (Hftem & ofafem T 9 afs@) g st °
frifie fvd 2, ™7 | ST emeew oftr T3 wifiem fem,
TE 329U 91 8 GHRI T8 9 6 39 Uee # T 8 W
39 qUf W=, T A9 IO Fi T 13 U S gl wew aen
T 39 wyfr & T 5 90 o9 Yoike WQ g [ Friftm
= A weft ofw fafe o w o feifie gu
WO E g T w yfafes s
OR (372ram)
3.  Explain the following :

= = auEmEe

- (@  Use of equation to determine amount of fresh issue.

T friET 5t I 99 FW I THE T
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(b) Cum-Interest and Ex-interest purchase of own
debentures as Investment. '

o &% 9 A @O % HUGl &1 e gfed
TE o Wed w4

UNIT-1I

(FHTE-ID)

4. The Manager of X. Ltd. is entitled to a salary of ¥ 10,000 p.a.
and also to a commission of 5% on profits after
taxation but before charging such commission. The
statement of profit and loss for the year ended 31.3.2015
was as follows : '

T fa & TR F T 10000 FE I T W B
9% WY W OHHYA Bl RR § T % @ | 5%
A o 37 ¥ 313201535‘rmaﬁmm—€lﬁ
faeor f yER o

Statement of Profit and Loss
Particulars Note L4
(i)  Operating Profit (G.P.) — 4,40,000
(i) Expenses:
Employee's benefit expenses 1 95,000
Depreciation (including devélop—
ment reserve ¥ 10,000) — 50,000
Cost of finance : 20,000
Other expenses 55,000
Total expenses 2,20,000
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(iii) Profit before exceptlonal items (I-I)  2,20,000

' (1v) Provision for tax ~ 90,000
~ Profits after tax (III-IV) 1,30,000
(v) Transfer to reserves 60,000
Profits for the year (IV-V) ' 70,000
Note : ‘
1.  Employee's benefit expenses :
Salaries and Wages 80,000
Manager's Salary 10,000
Directors Fees 5,000
95,000

Assume that all other expenses are admisible for tax
purpose. Calculate total remuneration payable to Manager ’
assuming tax rate @ 60%.

X B fu ool o @e U ok gY, TSR W 3 Fj|
wiftafi F T HIAT AR F F R 60% B
OR (399)
5. What is bonus issue ? State circumstances for bonus issue
and sources for bonus.

S frim @ d ?mﬁmﬁqﬁmﬁmm@a |
e |

UNIT-III

(3E-TID)

6. What factors affect the value of share ? Explain methods
of its valuation in brief.

AN YEAFT W WA A 9 TARE wW €2 TR
e # fREl #® owEe § e

]
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OR (3795aT) .

7. M Appu runs a Chemist Shop. His net assets on 31.3.2016
amounts to T 20,00,000. After paying rent of ¥ 20,000 p.a.
and salary of ¥ 10,000 to the chemist he earns a profit of
¥ 1,50,000. His landlord who happens to be an expert
chemist is interested in purchasing the shop. 8% is
considered to be a reasonable return on Capital employed.
Reasonable remunerations for the new proprictor may be
taken as ¥ 12,000 and the value of premises may be taken
as ¥ 2,00,000. The purchaser will work himself. The rate -
of depreciation on premises is 10%. What can Mr. Appu
expect as payment for goodwill ?

f. org # TR T W OgEW €1 31 W, 2016
I s TR w1 oA T 2000000 @M T 20,000
ot fortrn Wa W@RAR T T 10,000 A 367 9FR &
AR 9% T 1,50,000 TN FHEC 8| STH! THE F WH TH
S W ) 9% W N F SR # ¥ v
3 fafmfa 3t — sfaa wom 8% gwEh S # W
@ w1 sfaa TRefis T 12,000 iR Ten SER w1 e
% 2,00000 forn ST Wb 21 Hal WE FE HEW T T
T H R 10% B maﬁ@ﬁa%wﬁﬁﬁﬁw
et Tendt 82

UNIT-1V

(FFE-IV)

8.  Write short notes on the following :
e w dfa fewfer fafed
(@  Inter Company Balances (Owings).
3TI:  HEA T
(b)  Purchase consideration and its calculation.
*a Wfaeer wE gEHl UM
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OR (&teram)

9. R.Lid. acquires S. Ltd. for a consideration of T 19,00,000
to be discharged in the form of fully paid up shares of
T 10 each. The Balance Sheets of two companies as on

31.3.2016 were as under :

IR, fa 3 @ fa ﬁ?wooooo%srﬁrmmm
T S wftreet % 10 T of g T sl § g
S 21 31.3.2016 Y SHF FEPRT @ foed fre weR ¥

Particulars

(i) Equities and Liabilities :

(@ Shareholders Fund :

- Share Capital T 10
each
Reserves & Surplus
() Current liabilities

(i) Assets :
Non-current Assets

Note :
1. Reserves & Surplus :
~ General reserve
Investment Allowance
reserve
Export Profit Reserve
P& L Ak

2802/10,080/555/24 8

Note R Lid S Lid
4 4
- 20,00,000 12,50,000
1 18,00,000  8,50,000
_ 10,00,000 8,00,000
Total  48,00,000  29,00,000
48,00,000  29,00,000
Total  48,00,000  29,00,000
R. Lid. S. Ltd.
7,50,000  1,50,000
*1,50,000 50,000
3,00,000  2,00,000
6,00,000  4,50,000
18,00,000  8,50,000




You are required to give necessary journal entries in the
books of R. Ltd. When Amalgamation is by way of
(i) Merger, (ii) Purchase. Assume that Investment
allowance reserve and export profits reserve are statutorily
required to be continue.

I R . ﬁwﬁwmﬁ%m
THET () foorm & w9 A, (i) ¥ ® T4 F B
%méﬁ;faﬁvﬂw&wwﬁaﬁamm%}m
w1 Y I

. UNIT-V

(FFTE-V)

10. Following is the B/S of R. Ltd.
R, fa, %1 fager fe R ®

Particulars Note No. ¢

- S. Capital ‘ 1 2,00,000
Current liabilities = 15,000

' Total 2,15,000
Tangible Assets — 90,000
Intangible Assets 2 70,000
C. Assets 2 55,000
Total 2,15,000

Notes : '

1. Share Capital :
10% Pref. Shares

“of ¥ 5 each 1,00,000
Equity Shares of : '
I 5 each 1,00,000

2,00,000
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2. Intangible assets :

Goodwill 25,000
P& LA 45,000
- 70,000

3. Current assets :
Stock 25,000
- Debtors - | 30,000
: 55,000

The followmg is approved by court :

e g e Ao wied W W
(i) - Equity shares of T 5 each to be reduced to fully paid
' up shares of ¥ 2.5 each.

T 5 a9 TEa W W O T 2.50 ART WEA

- gmar st e fEmn s
() 10% preference shares of ¥ 5 each be reduced to
10% preference shares of ¥ 3 each fully paid up.

T5 9 10% YOTHHR S i werEml T3 aen
o ¥R 10% TEIRER oW s s
(iii) Goodwill and debit balance of P & L A/c be written
- off completely.

@:ﬁﬁm—aﬁﬁﬁ#@ﬁzmaﬁtﬁw
¥ omfafen +x R s

~ (iv) The balance of amount be used to write off the other
fixed assets.

9 AT F I o T wEe w1 srfated
W § fE S |
Give journal entries and revised B/S of company. ,
SHe wfafieai dfe @en wEE W oRatia fage AR
gl
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11.

12.

OR (372@N)

Write short notes on any two @ — T o

el S W wiyw femfren fafeg -
(a) Minority Interest.
segaeTs  fEal
(b) Cost of Control.
frem =1 @
(©) Treatment‘ of Pre-acquisition Profits.

afEn ¥ @ F wH BT

PART-C
(@ue-v)

UNIT-I

- GEE-D
S. Ltd had 3000 6% Debentures of I 100 each as on
1.1.2015. The company in pursuance to the terms of issue
purchased the following debentures from the Open Market
for immediate cancellation :
wa fa 3 1.1.2015 ® T 100 IA 3000 6% HOIA
A FA 3 Frfem F W B TR TS TR ¥ A
@ W ?g o ®mUME & e YRR %F R e
1.3.2015 400 Debentures @ 98 Cum Interest
1.10.2015 800 Debentures @ 100.25 Cum Interest
1.12.2015 400 Debentures @ 98.5 Ex-Interest.

~ Assuming that debenture Interest is payable half yearly on

30th June and 31st Dec. Show the Journal entries and
prepare Debentures A/c. Company closes its books on
31st December each year.
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qgmgq‘“ﬁmmmwvﬂ@mﬁwﬁ
T ST ®, S wfafet Gf aun e an far
FIRTT FrE o T TR T 31 feER # 9= F R

UNIT-II

FFRE-1D)
13.  Write notes on any two of the following :
= W & W feoforel fafan .
(@ Divisible profits u/s 123.
Y 123 W fawsm Amm @
(b) Calculation of Net Profits u/s 198.
Yy 198 H JE wWE HT IO !
(¢)  Vertical format of B/S Under Schedule III of
Companies Act, 2013. y

T sfufEm, 2013 # oEgR I § faed @
A el
| UNIT-III | | ,
(STE-TID)
14. The following is B/S of XYZ Ltd. as on 31.3.2013. y

31.3.2013 & XYZ Ltd. #1 foegr f= war 2
Particulars Note No. <
(1  Shareholders Funds : '
(@) Share Capital

(X 10 each) — 75,000
(b) Reserves & Surplus - 1 38,250
(@) Current Liab. and Provisions 2 59,250

Total  1,72,500
2802/10,080/555/24 12



(iii) Assets :

“(a)y Tangibleassets - 3 90,000
(b) Intangible assets 4 12,000
(¢) Current assets 5 70,500
Total 1,72,500
Notes : '
1. Reserves & Surplus :
General Reserve 15,000
Workmen Saving A/c 11,250
P& L Alc 12,000
- 38,250
2. Current Liabilities & Provisions : :
Creditors 36,750
Provision for tax 22,500
59,250
3. Tangible assets :
Land & Buildings 41,250
Plant 48,750
: 90,000
4. = Intangible Assets :
Trade Marks - 7,500
Preliminary Expenses 4,500
| ' 12,000
3, Current Assets :
Stock : 18,000
Debtors 33,000
Cash at Bank 19,500
70,500

The Plant is worth < 45,000 and Land & Building have
been valued at ¥ 90,000 of the debtors ¥ 3,000 are bad.
The Profits of Co. have been as follows : 2011 : ¥ 30,000,
2012 ¥ 33,750, and 2013 : T 39,750. It is the Company's
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15.

practice to transfer 25% of profits of reserves. Ignoring
taxation, find out the value of shares on the net assets
basis, and also on dividend basis. Similar companies give
an yield of 10% on market value of Shares. Goodwill may
be taken to be worth I 60,000.

T& WA Yodswhdl & STER we & ed T 45,000 T
7o T T 90,000 T 3R H T 3,000 TG BN FEEA &
| T WER W : 2011 ® T 30,000, 2012 H T 33,750
A 2013 F T 39750, FEAT 1 Fg A & FF 9w @+

25% Tedl § SR S 81w B oA W 7 W@ g0

IS T TS I SMER W HEA H S R g
FFA TW THR BT FEA T S H AR Ped W
10% T FEH w1 S w1 ged T 60,000 AF ST
T T |

UNIT-IV

FFE-1IV)
Write notes on any two of the following :
e fr & w fewfmal fafaw
(@ Amalgamation as Merger vs. as purchase of business.
- foom WM wE ® WA H TR
() Pooling of Interest and Purchase Method.
fedl & wEiEw @ wa fafu
(¢) Treatment of liquidation expenses and unrealised
profits in Inter Company Stock transfers.
O G H TA A FEA RE SRR

w7 agA T AN H o
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UNIT-V
| (FFE-V)

16. From the following B/S of H. Ltd. and its subsidiary
S. Ltd. drawn up at 31 March, 2016, prepare a consolidate
B/S having regard to the following :

(i) Reserve and P & L A/c (Cr.) of S.Ltd. stood at
¥ 25,000 and ¥ 15,000 respectively on the date of
acquisition of its 80% shares by H. Ltd.

(i) Machinery (book value ¥ 1,00,000) and furniture
(book value ¥ 20,000) of S. Ltd. were revalued at
3 1,50,000 and X 15,000 respectively for the purpose
of fixing the price of its shares. Book values of other
assets remaining unchanged. These values are to be
considered for Consolidation Purpose.

frer & oW ¥ W@ g 31 WE, 2016 ® . R @

ST WEEE w6 fa & fre faesi @ wwiga

et dar #ifT

() T 9 gusn ey a ffaw @ f&a 3
T Ud @H-s E@n (#fee) w1 viw
% 25000, T T 15,000 Rl

() TE A w T 100000 TKF T HT W S
320000 % TR R THHR AW F T T FA
% foIT w1 T 150,000 T T 15,000 W AR
fran T o= At ® g qea efEfia @

T A F R R @ i am § @
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B/S of H. Ltd. and its Subsidiary S. Litd. as on 31.3.2016

Particulars

k Equities and Liabilities :
@ Shareholders Fund :

. (a) Share Capital

T 100 each
(b) Reserves and
Surplus :
Reserves
P&L Afc
(i) Creditors
Total
M. Assets:

(i) Non-current assets :

Machinery
Furniture

(i) Investments :
Shares in S. Ltd.
(800 shares)

(iii) Current assets

Total ‘

H Ld. S. Ld.
3 3
5,00,000  1,00,000
2,00,000  7,50,000
1,00,000 25,000
1,50,000 50,000
9,50,000 2,50,000
3,00,000 90,000
50,000 17,000
1,60,000 ~
4,40,000  1,43,000
9,50,000  2,50,000
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